LINEARNI ROVNICE

Zadani:

ResSte linearni rovnice, proved’te zkousku a urcéete podminky:

Reseni

8+3y 6y-2 7 5

4y—-6 10y-15 6 2y-3

27
=-33, L=p=2_,
Y 46

y#15
X+5 Xx+3 Xx=5,8, L=P=2
2. 2— =—
X—7 X-=-5 X 27, X%5
S a=22, Lp 125
a+3 a“-9 a—3 52
X #3,X#-3
3X+7 5+X 25— 3x x =-5, L=P=0,
4, - 3- =0
X—5 X x? —5x Xx#0, Xx#5
5 6—z_2(4z—3): z zeR-{-1,1}
' 1+2 72 -1 1-z
6. 4 _(Bp=2)p_ sp p=1, L=p= >
6-p 36-p 6+p 7
p#6, p#-6
2
. 2 _ 3x*  x-4 x=2, L=p= L
X+4 x*+64 x?-4x+16 3
X # -4
8. 2x—1+4:3+2x _5_3,|_:|:>_£,
5-x X—-2 16 3
X#5, X#2
o Sy-1_4-3y y=-15, L=p= -
5-4y 2y-5 5
25y 5
2’ 4
10, > 71077 y=4, L=p=-6
y+1 y-1 y=1, y=-1




